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2018
MECHANICAL ESTIMATING & COSTING

Pyt o : fAeR) ' [ATrehaw 3H : 70
Time allowed : Three Hours] [Maximum Marks : 70
Pe: () FE TR F IR G |

Note : Attempt any four questions.

(ii) FEF 5T F G AT ) FHER T G FT Hford |
Solve all parts of a question consecutively together.
(iii) ¥e9% ¥ F1 79 78 & IR Fiford |
Start each question on fresh page.
(iv) G GTaTaT B 3R 817 1 R 7 3 37gare & A E |

Only English version is valid in case of difference in both the languages.

1. (i) OTheM 12 ? JATeheid Td TNTd | 91 <L 8 ?
. What is Estimating ? What is the difference between Estimating and Costing ? (7%)
(i) et rfene <t wamE & T o frsha Y T JATeher hifv -

Yeae gered o = T 2500

I FH T = T 4000

FHerdt TR PRI = T 3500

weTTEfS @S = 40% HH) AT &

Tora @ = Tty T % 20%

I = 3¢ITG <hl A TTd HT 10%.

Estimate the selling price of a product with the help of following data : (10)
Direct Material Cost =T 2500 )

Direct Labour Cost =¥ 4000

Factory overheads =X 3500

Administrative overheads = 40% of factory cost

Selling expenses = 20% of prime cost

Profit = 10% of total cost of product.

(1 0f4) P.T.O.
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(i)

(20f4) 1136
e e & frafor 6 fafie faftrat =6t awems |
Explain various methods of allocating overheads costing. ' (7%)

wiee % 100 | s & fore arevass ugret 1 Jmad 91 Hitd |sﬁwz'qgswa
(MS) 1 8 | 381 MR 8 gm/cm? & G1 #WTG T 2 Wi fopon 2 | 56 wiwe <t wer

 arE s IR | '

3. (1)

(i1)

Estimate the volume of material required for manufacturing 100 piece of shaft. .
The shaft is made of mild steel weighs 8 gm/cm? and costs ¥ 2/kg. Calculate also

material cost for such shatt. (10)
25 T l
o $20| ¢ $15 foeae s
¢|()_- .................................. ¥ s R S % Badpal ¢7_3- ....... ..¢[()
s | i e

<—l()—><———2()———>‘<—9—>‘e—15~>l<———~—20————>l,

asft wrg fonft. ﬁ% | / All dimensions are in mm.

ol AT fafert w1 i iR |
Describe the methods of wage payment. (872)

60 firft. =g i BT & @WUed & fau avys g9g 59 FHifse | afe sd oy
20 9t /firre, woor = 1.2 fidt, | oeft e 3 Pt e B

Find the time required to turn a 60 mm diameter rod to the dimension shown in
tig. Take cutting speed as 20 m/minute, feed as 1.2 mm. All cuts are 3 mm deep. (9)

‘ . T

$AT o e o PR R BT - ¢ 34

4

115 sle - 100 5|
aeft arg fapft. § € 1 / All dimensions are in mm.
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(ii)

(3 of4) : , 1136
fafir=t Bt fsranati S awsms |
Explain various types of forging operations. (7%)
aﬂgm?ﬁ | m &5t § 10 mm W @l Y A S g 6 mm & RIS

é@mélé’mmmaﬁﬁﬁlﬁmaﬁa@aﬁmﬁﬁ;
T HT = 250 TR, g el = 30 dee
Yo i = 10 HY. /52T, 9 90T = T 50/5T

FwRIE @ud v Hiex afesn = 0.1 fopmm

vtk & = 2 3.50 Wi fopettane 3tfar, wef <t g&m@r = 60%
sAYE @ = 2 70 wf fem ‘

Two 1 m long and 10 mm thick M.S. plates are to be welded by a lap joint with

6 mm electrode. Calculate the cost of welding. Assume the following data :

Current used = 250 amperes, Voltage used = 30 Volt

Welding speed = 10 m/hr, Labour charges = 50 per hour

Consumption of Electrode per m of welding = 0.1 kg

Power charges = ¥ 3.50/ kWh, Efficiency of machine = 60%

Cost of Electrode = 70/kg (10)

sfie et srduren & < 9 arelt oty g franatt = avens |

Explain various important operations carried out in sheet metal shop. (6%%)

20 C1 FeiST o7t UTSY 3 el ST 1 3MTeher sl | 3t arfergt ol wifd

Estimate the total cost of 20 CI flanged pipe casting shown in fig :
(a) CIhi & =3 10/kg
Cost of CI =% 10/kg
(b) wfskan hy oW = T 4/kg
Cost of process scrap = X 4/kg
(c) WERH BhY = 2% TES % HT W I
~ Process scrap = 2% of net weight of casting
(d) Ge= Td Qe E =% 5 9fa T
Moulding & Pouring charges = ¥ 5/piece
(e) OIS BT 9 THIE @ = T 2 Wl 1

Casting removal and cleaning =X 2 per piece

P.T.O.
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(f) STt HUR =T = 5% Ha @wTa ‘

Administrative overheads = 5% of factory cost

(g) Tosra Faftwd = 70% wemafes Sl =3 1

Selling overheads = 70% of administrative overheads. (11)
|'< 160 1 >‘]
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T/ Density (p) = 8 gm/CC
aft wrg finfi. § € | / All dimensions are in mm.
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6. ﬁﬁlﬁmﬁ

Explain the following®:
(i) arg FehEE e
Metal Removal Rate
(i) ohdH T F THTOT
Cutting speed and feed
(iii) T wlig
Hire purchasing

(iv) Hmra fageyor

Break Even analysis

(v) RrFufii=m
: Fixed overhead , (3%:x5)




